OMmRON

kEE-SX153 T To0EY EE]

W5k N Wi
(BAL : mm)
136 —6.4— ‘ o FENE3 AmmILE ¥ 4 7
I [s Ji[i5, {05 o FAT T AT
62 M= iB33
L Is JFL - l2 o =0 fREE (A1) v M IE0.5mm)
s . oA v Ry AT
iy (e 1T o F VLY 15 g
‘ l_ $3.2+02%C = ‘ ;’ 0.5
10.2 47 { 7.2L_ro.2
| : 7 | 5 ]\ - WHEXT B KTEAE (Ta=25C)
“ N e i y ® 0 G | ER | WA
Ll Ceos ° w B E i IF 50 %1 mA
‘ «W»4-0.25 415 el o8 Vv A JH &E R 1FpP 1 *2| A
Z 1~7.6+0.2~ 2.054 15” ~ =
g K c : in [EA }:T: VR 4 AV
< "
z G- HREIAA Vs 9WEE | Vceo 30 Y%
[} | <, N
b MERERE A e % I3y9-3V)MEE | Veco — v
H
E| ¢ Wiar s s mm| lc 20 | ma
E Zﬁiﬁ S S AR TEE T 5. 2LV v %k P 100 *1| mw
)S( AO—1 [ T 7 K 5l & = &) V& i i3 Topr =25~+85] C
1 WTRLE % 3UT | +03 ®oF R E Tstg | —40~+100| C
g A 7 —=FK 3z 6 LT +0.375 AT E Tsol 260 *3 C
K HYV—F 6 %2 10LL T +0.45 S ———— — e O—
C T 0FBEIST 058 *1 JfE]Lijﬁ'EfJ 25CHWZ AIGEIE, MEEKMNE Z <
E I3iv¥ 18% M Z30MT | +0.65 *2 /;’va%'ggogs\ 3% | 100Hz
%3 13 AR 1085 LAY
BESHE KU XZRIFM (Ta=250)
) R o
® H i E A S
MIN. TYP. MAX.
JIE o H | VE — 1.2 1.5 V | IF=30mA
T
1?'1’: Uil ES i . — 0.01 10 1A | VR=4V
H
=27 BEWE| e — 940 — nm | [F=20mA
G A Wl Io 0.5 — 14 mA | [F=20mA, Vce=10V
[ E | Ib — 2 200 nA | Vee=10V, 0/x
1?'1? kW ML & Uit | Iieak — — — 1A
Hi
IV ryy-IviH _ _
# A1 = E Vce(sat) — 0.1 0.4 \Y [F=20mA, IL=0.1mA
=70 REENRE | e — 850 — nm | Vce=10V
= -+ Vcc=5V, RL=100()
7t i3 M| tr — 4 — 7S | [ =smA
S 2 - Vcc=5V, RL=100()
T~ i fhy | tf — 4 — 1S | [ Zsma

98



OMRON EE-SX153

WER - 4FIEETR

1. IBEH - I 7 218KDBETEIERK 2. IRER—IEEEFE (TYP.) 3. XER—IEERIFE (TYP.)
& 60 150 1 18 60 #* 20 T
z b ! = Ta=25C
:If . 2 4 :l_! 18 Vce=10V—]
m 0 i; %0 Ta=‘—30°c ’II ™ 16
c
Pe ] Ta=+25"C\ 14 ,/

Z NE l
) \ ) | B
) v

0 0
-40 20 0 20 40 60 80 100 0 02 04 06 08 1 12 14 16 18 0 10 20 30 40 50
BEEETa (CT) IEEEVF (V) NEEFIF (mA)

40 100 40 I
\ Ta=+70C H 12
\N A

X4. kEH—AL 72 - I3y 2FEEHEM (TYP) X5. A ER—BEREFE (TYP.) Xe. BBER—ERBESFE (TYP.)
¥ 20 T T #8120
% Ta=25C 4 ‘
S IF=20mA
18 % Vce=5V
mA g ;R‘Eno — =
14 XF¢§0'_“.’§ = % _
o | — I) \ 100 :
fmm! 1F=40m _:_..-
Ry pu— "F’VA 9 - )1(
s fF=30m / ’ / 5
/ 3
=20mA 80
6 ‘IF 20mA 1] 04
s l
[F=10mA 70 0.01
2
T T T T 11
0 .001
o 1t 2 3 4 5 6 7 8 9 10 0 =20 0 20 40 60 8 100 0001 20 10 0 10 20 30 40 50 60 70 80 80
Ly &-I3y 2MEEEVCcE (V) ERRETa (C) BEEETa (CT)
(7. SERE—SFIRAFE (TYP) X8. A EFE (TYP.) X9. A EFE (TYP.)
[i510,000 =7 #8120 T #8120 T T
E %;(3:25% H i IF=20mA 33 IF=20mA
] H s Vee=10V S Vce=10V
}? 7100 Ta=2§ Cc 7100 Ta=25 C‘4
- L I et
3 1.000 % \ | % \ )
80 ?%4 80
o B
d 1 s
)
100 60 \ + = 60 ‘
40 \ — 40 \ !
P
10 —
= 20 \ 20 \
0
801 0.1 1 10 05 025 0 025 05 075 1.0 20 15 -1.0 -05 0 05 10 15 20
BFERRL (kQ) FEBEd (mm) FEBd (mm)

B10. &R ERIE R

Vce

Hh

99





